% ROD(REF)
CR1-116(2) FOR 1-1/2" CA RK 5/8 ET LOCK WASHER(4)
CR2-116(2) FOR 2" CA RK SEE TABLE FOR OPTIONS

\ CABLE RK(REF)

5/8 HEX NUT(4)

"D" = CA RK SIDE BAR SIZE

"D" PART # w/ WASHERS
1-1/2" CR1-116K2 NO
SINGLE CABLE RACK 1-1/2" | CRI-116K2E YES
C CLIP SUPPORT KITS > CRo116K2 NG
2" CR2-116K2E YES

5/8 ET LOCK WASHER(4)

2" CHAN FRMG(REF) SEE TABLE FOR OPTIONS

-
| Eﬁ\sm@)

% ROD(REF)

\ CABLE RK(REF)

CR1-115(2) FOR 1-1/2" CARK
CR2-115(2) FOR 2" CARK

5/8 HEX NUT(8)

"D" = CA RK SIDE BAR SIZE

"D" PART # w/ WASHERS
1-1/2" CR1-116K2C NO
SINGLE CABLE RACK 1-1/2" CR1-116K2CE YES
C CLIP SUPPORT KITS p CR2LL6K2C NO
OVER 2" FRAMING CHANNEL
2" CR2-116K2CE YES

<04/22/09>
Moreng Telecom Products
973-237-2001
www.morengtel.com


http://www.morengtel.com/images/product/pdf/BasicHardware/Basic_Hardware_09-4-01%20SFC2.pdf
http://www.morengtel.com/images/product/pdf/BasicHardware/Basic_Hardware_09-4-06%20CR115.pdf

